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EXCEL CIVILS ACADEMY 
DAILY CURRENT AFFAIRS 

Date: 14-11-2022 
 
 

1. SEBI introduces regulatory framework to facilitate online bond platform providers.. In this context 

consider the following statements: 

1) The regulator has defined online bond platform as any electronic system, other than a recognised 

stock exchange or an electronic book provider platform, on which the debt securities which are 

listed or proposed to be listed, are offered and transacted 

2) Online bond platform provider means any person operating or providing such a platform. 

Which of the statements given above is/are correct?   

a) 1 only  

b) 2 only  

c) Both 1 and 2  

d) Neither 1 nor 2 

 

2. SEBI introduces regulatory framework to facilitate online bond platform providers.. In this context 

consider the following statements: 

1) Under the new rules, no person would act as an online bond platform provider without obtaining 

registration certificate as a stock broker from SEBI 

2) Such a person would have to comply with the conditions of registration and such other 

requirements specified by the regulator from time to time.  

3) The move will also enhance the confidence among investors, particularly non-institutional 

investors, as the platforms would be provided by SEBI-regulated intermediaries. 

Select the correct answer from the codes below: 

a) 1 and 2 only 

b) 2 and 3 only 

c) 1 and 3 only 

d) 1, 2 and 3 
 

3. Consider the following statements with respect to ‘Security and Growth for All in the Region’  

1) It is an initiative of the ‘ASEAN+6’  

2) It is the brainchild of India to specifically boost India-ASEAN trade relations 

3) It was launched during the 12th ASEAN India Summit 

Select the correct statements  

a) 1 Only 
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b) 1 and 3  

c) 1, 2 and 3 

d) None of the  
 

4. Which of the following countries are party to the ‘Shanghai Pact’?  

1) India  

2) Pakistan 

3) Russia  

4) Nepal 

Select the correct code:  

a) 1 and 3 

b) 1, 2 and 3  

c) 2 and 4 

d) 2 and  
 

5. Consider the following statements regarding the methods of floatation of new issues in the Primary 

market: 

1) Under Private Placement, securities are not issued directly to the public but are offered for sale 

through intermediaries like Issuing Houses or Stockbrokers. 

2) Offer through Prospectus is a direct appeal to investors to raise capital, through an advertisement 

in newspapers and magazines. 

Which of the above statements is/are incorrect? 

a) 1 only 

b) 2 only 

c) Both 1 and 2 

d) Neither 1 nor 2 
 

6. Consider the following statements regarding the International Fund for Agricultural Development 

(IFAD): 

1) Promoting gender equality is a key element of IFAD’s work. 

2) It is dedicated to eradicating poverty and hunger in rural areas of developing countries only. 

3) Its membership is limited to developing countries only. 

Which of the above statements is/are correct? 

a) 2 only 

b) 1 and 2 only 

c) 2 and 3 only 

d) 1 and 3 only 
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7. Consider the following statements about Himalayan Gray Langur: 

1) It is considered an endangered species globally 

2) Different elevations of habitation decide the diet from fruits to flowers.  

Which of the statements given above is/are correct?  

a) 1 only 

b) 2 only 

c) Both 1 and 2 

d) Neither 1 nor 2 

 

8. Consider the following statements 

1) Methane is the second biggest contributor to global warming after carbon dioxide. 

2) It is more potent than carbon but it does not last as long in the atmosphere before it breaks down. 

3) India has more methane emissions because of the high cattle population and production of rice.  

Which of the statements given above is/are correct?  

a) 1 only 

b) 3 only 

c) 1 and 2 only 

d) 1,2 and 3  

 

9. Which one of the following is not a Harappan site? 

a) Chanhudaro 

b) Kot Diji 

c) Sohgaura 

d) Desalpur 

 

10. With reference to the history of ancient India, which of the following was/were common to both 

Buddhism and Jainism? 

1) Avoidance of extremities of penance and enjoyment 

2) Indifference to the authority of the Vedas 

3) Denial of efficacy of rituals 

Select the correct answer using the codes given below: 

a) 1 only 

b) 2 and 3 only 

c) 1 and 3 only 

d) 1, 2 and 3 
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